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Student Edition
English Language Arts 

Grade 3

Quiz: L.3.1.F
1.	 Which pair of words makes the most sense for this sentence?

Larry  to the meeting because  was late.

A.	 ran, he
B.	 runs, he
C.	 ran, him
D.	 runs, him

2.	 Which pronoun is needed to complete this sentence?

Although Nicole loved parades, the noise of the crowd was so loud,  really bothered her. 

A.	 they 
B.	 she 
C.	 we 
D.	 it

3.	 Read the sentences below:

“It is her chair,” I said. “They belongs to Dad.”

Which sentences use the correct pronoun and verb?

A.	 “It is my chair,” I said. “I belongs to Dad.”
B.	 “It is his chair,” I said. “It belongs to Dad.”
C.	 “It is her chair,” I said. “She belongs to Dad.”
D.	 “It is their chair,” I said. “They belongs to Dad.”

4.	 Which pronoun best completes each sentence? Match each pronoun with the correct sentence. 

A.	 Emile puts away  violin after using it.	 they
B.	 Paulo is very hungry, so  wants to get lunch.	 their
C.	 My grandparents are happy that  live close to us.	 he
D.	 Jen and Emma are packing for  trip to New York.	 them
E.	 I was going to e-mail my friends, but I called  instead.	 hisPREVIEW




